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English 
Test Specification Chart for External Examination 

 (Grade 4-5) 
The final examination is based on the written test which covers reading and writing skills. 
Grammar is incorporated in writing section. The test follows the following test specification 
chart. 

Reading (25 marks) Writing1 (25 marks) 
Assessment of reading skill follows the following 
structure: 
1. Reading 1: One short reading text from textbook 
with one type of comprehension question (5 marks) 
2. Reading 2: One short reading text from textbook 
with one type of comprehension question. (5 marks) 
3. Reading 3: One short reading text not given in the 
textbook with one type of comprehension question. (5 
marks) 
4. Reading 4: One short reading text not given in the 
textbook with two types of comprehension questions. 
(10 marks) 
 Text types for reading 3 and 4 will be of any two 

from story, essay, timetable, schedule, menu, 
chart, calendar, notice and letter. 

 Length of the reading texts should not exceed 150 
words. 

 Question types for the reading test will be: 
o   True/False 
o   Fill in the gaps 
o   Multiple choice 
o   Matching 
o   Ordering 
o   Short answer questions 

Types of items should not be repeated. There should 
be at least one reorganization and one simple 
inferential question in each reading task. Reading 
task 4 should include the testing of vocabulary.) 
(Each question carries 1 mark) 

Assessment of writing skill follows the 
following structure: 
1. Punctuation: A short and simple 
paragraph containing ten punctuation 
errors. (5 marks) 
2. Controlled writing: A short and simple 
paragraph where students are required to 
fill in with the words given in a separate 
box. The omitted words should be noun, 
pronoun, adjective, adverb and verb. (5 
marks) 
3. Guided writing: Writing a short 
paragraph based on the given clues (text 
or pictures). (5 marks) 
4. Free writing: A personal letter/an email 
or leave application or a paragraph 
describing a picture, place or thing. (5 
marks) 
5. Grammar: 5 marks 
Multiple choice questions (with three to 
four alternatives) covering any five of the 
following contents will be included in 
grammar: 

o   Articles 
o   Prepositions 
o   Tense 
o   Connectives 
o   Pronouns 
o   Adjectives 
o   Questions 
o   Comparatives and Superlatives 
o   Adverbs 
o   Modals 

 
 
 
 
 
 
 
 
 
 
 
 

                                                 
1
 In case of writing tasks, give the tasks that are included in the course of the respective grades. 
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Model Test Paper 
English 

(Reading and writing) 
Grade: 4          F. M.: 50 
Time: 2 hours 
Attempt all the questions.  
 

1. Read the text and write True or False for the given statements. (5X1=5) 
Nepal and Switzerland are both small countries with high mountains. Nepal is bigger 
than Switzerland. Nepal has the Himalayas and Switzerland has the Alps. Many 
tourists visit both countries. Both countries have lakes, but Switzerland has many 
bigger lakes. The lakes in Nepal are smaller. Both Nepal and Switzerland do not 
touch the sea, but Switzerland is closer to the sea. Nepal has Mt. Everest; 
Switzerland has Monte Rosa. Mt. Everest is taller than Monte Rosa. In fact, Mt. 
Everest is the highest mountain in the world. Both countries have unique flags. The 
Nepali flag is triangular, but the Swiss flag is square with a white cross. 

 
a. Nepal and Switzerland are the same in size. 
b. The lakes in Switzerland are smaller. 
c. Switzerland is nearer to the sea. 
d. Monte Rosa is a mountain in Nepal. 
e. Both countries have similar flags. 

 
2. Read the text and answer the given questions.    (5X1=5) 

Once there was a very funny man. His name was Jeha. He had five donkeys. He 
didn’t want any more donkeys because his donkeys were the best in the land. Some 
people wanted to buy his donkeys. But Jeha did not want to sell any of them. He liked 
his donkeys very much and he was kind to them. He could even speak to his 
donkeys. 
One day, Jeha took his donkeys to a nice field in the country. They ate the tall green 
grass there. Jeha slept for a long time on the grass. When he woke up, it was night. 
He quickly called his donkeys, “You have eaten enough. Now, let’s go home.” The 
donkeys walked after Jeha. On the way, Jeha looked back and counted his donkeys. 
He counted them three times. He did not want to lose any of them. 
a. How many donkeys did Jeha own? 
b. Why did Jeha not want to sell his donkeys? 
c. Why did he take his donkeys to a field? 
d. How long did Jeha sleep for? 
e. Why did he count the donkeys three times? 

 
3. Read the given email and complete the sentences with the words/phrases from 

it.                    (5X1=5) 
To: nitin@gmail.com 
 
From: james@gmail.com 
 
Subject: Hi 
 
Hi Dom, 
 
How are you? I’m fine. I’m at home, of course, because of lockdown. I’m still studying 
by computer. I have four hours of online class every day and then I work on projects. 
Actually, it’s quite good. We can do a lot of things by computer. I, read books, and 
have discussions with the other students. I enjoy those discussions because I’m 

mailto:nitin@gmail.com
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alone most of the time. Dad and mum both work all day. I can’t leave my town or visit 
friends, so I work! I work much harder than I did at school!  
I miss playing football, but I’m keeping active. I go jogging once a day. But I’m 
watching a lot of videos too.  
I’m going to work on my father’s farm tomorrow. I don’t know anything about farming, 
but it will be great to be somewhere different! 
Hope you are well, 
 
James 
a. James is at home because of ………………. 
b. He spends four hours on ………………. 
c. His father and mother go to work all day so he is ………………. most of the time. 
d. James can’t go to visit his ………………. 
e. James father works on a ……………….. 

 
4. Read the text and do the given tasks.          10 

Famous people’s first jobs 
Not all famous people were born into famous families. A lot of them had normal lives 
before becoming famous. They also had jobs like the rest of us. Here are just a few. 
Former President Obama worked at an ice-cream parlour selling ice-cream cones. 
He was in high school in Hawaii and said it was quite hard. He also said that the job 
taught him about hard work and how to spend time with work, friends and family. 
 
Brad Pitt had a strange job when he was younger. He worked as a chicken! His job 
was to dress up like a chicken and wave at the cars on the road.  
 
Maybe the strangest path in life was that of Pope Francis. When he was young in 
Argentina, he worked several jobs before dedicating his life to religion. He worked as 
a cleaner sweeping floor, a chemical tester at a laboratory and as a bouncer at a bar! 
Yes, the pope was the person responsible for security at a bar in case anything 
wrong happened. Can you imagine? 
 

A. These words are from the above text. Complete the following sentences with 
them.           (5 X 1 = 5) 
 
famous  hard  strange  wave  bouncer 
a. Why did you ………. at him? Do you know him? 
b. His clothes are not usual. He likes ………. clothes. 
c. Rajesh Hamal is known to all. He is very ………. 
d. Working in the field is not easy. It’s a ………. work. 
e. A ………. throws out people who cause trouble in a restaurant. 

 
B. Choose the correct answer.      (5 X 1 = 5) 
a. What did Obama sell? 

i.    ice-cream   ii.  chicken  iii. chemical 
b. Who pretended to be an animal 

i.    President Obama  ii.  Brad Pitt  iii. Pope Fancis 
c. Who learned a lot from their job? 

i.    President Obama  ii.  Brad Pitt  iii. Pope Fancis 
d. Who worked in advertising? 

i.    President Obama  ii.  Brad Pitt  iii. Pope Fancis 
e. What was Pope’s role in the bar? 

i.    sweeping floor  ii.  testing chemicals  iii. providing 
security 

5. Punctuate the following text.       (5 X 1 = 5) 
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Scoring Guideline 

English 

1. Award 1 mark for each correct answer. 

Answers 

1a. False 
 1b. False 
 1c. True 
 1d. False 

1e. False 
2. Award 1 mark for each correct answer. 

Answers 

2a. five 
2b. because his donkeys were the best (in the land) 
2c. to graze them 
2d. a long time 
2e. because he didn’t want to lose any of them 
Award 1 mark for each correct answer. 

Answers 

3a. lockdown 
3b. online class 
3c. alone 
3d. friends 
3e. farm 
4. Award 1 mark for each correct answer. 

Answers 

4Aa. wave 
4Ab. strange 
4Ac. famous 
4Ad. hard 
4Ae. Bouncer 
4Ba. i. ice-cream 
4Bb. ii. Brad Pitt 
4Bc. iii. Pope Francis 
4Bd. ii. Brad Pitt 
4Be. iii. providing security 
5. There are five mistakes. Award 1 mark for each correction.  
The corrected text: 
Rinku, Nitu and Raman are going to change their school this year. They will join Suvakanya 
Secondary School. 
6. Award 1 mark for each correct answer.  

Answers: long time, saw, He, pebbles, quickly 
7 & 8.  Follow the rubrics given in the table below to determine the level. If it’s level 1, 
award 1. If it’s level 2, award 3. If it’s between level 1 and 2, award 2. If it’s level 3, award 4 
and if it’s level 5, award 5.  
Sample answer for 7: 
Now, you are at the airport. Come out of the airport to the road. Turn left and go along the 
road. You will find Grand Street. From there, turn right. Go straight again. You will find a 
turning. From there, turn right. You’ll see the hotel on your right. 
 
Sample answer for 8: 



 

6 
 

Dear Nitu, 
 
Thank you very much for your lovely gift on my birthday. It’s a nice pen. I like it very much. 
I’ll keep it forever. Thank you again! 
 
Nila 
 

Level Description of standards  

1  One or two ideas are related to the topic (Does not meet the word limit) 
• Multiple grammatical errors which may impede meaning 
• No attempts made to use compound sentences 
• Frequent errors in punctuation and spelling  
• Limited range of vocabulary 
 No use of cohesive devices  

2  Elaborates the topic with some ideas in considerable length. 
 Uses simple grammatical structures. 
 Some errors in punctuation and spelling 
 Attempts made to use a range of vocabulary with some errors though these 

do not impede meaning 
 Use of simple cohesive devices/ cohesion (and, but) 

      3  Ideas related to topic are elaborated in paragraphs 
 Writes in the range of word limit. 
 Attempts made to use some complex structures. 
 Very few errors in punctuation and spelling. 
  Attempts made to use a range of vocabulary with few errors though these 

do not impede meaning. 
 Uses appropriate format  
 Use of simple cohesive devices/ cohesion so links between ideas are often 

missing (more than and, but) 
     4  Content fully covered in a range of word limit. 

 Answer is original, creative and to the topic. 
 Good control of simple grammatical structures with an attempt to use 

complex grammatical structures with negligible errors. 
 Negligible errors in punctuation and spelling. 
 Uses a wide range of vocabulary.  
 Use of cohesive devices/ cohesion as required 
 Uses appropriate format 

9a. an 
9b. in 
9c. go 
9d. mine 
9e. can’t 

–)– 
 



 

cfwf/e"t tx -sIff $–%_ sf] kl/dflh{t kf7\oj|md, @)&* df 
cfwfl/t ljlzi6Ls/0f tflnsf 

  

 
-gd'gf k|Zgkq;d]t_ 

 
 

  

ul0ft 
 
 
 

-k[i7kf]if0f k|lt_ 
 

 
 
 
 

g]kfn ;/sf/ 
lzIff, lj1fg tyf k|ljlw dGqfno 

kf7\oj|md ljsf; s]Gb| 
;fgf]l7dL, eStk'/ 

  



ljlzli6s/0f tflnsf 
sIff $ / % 

@)&( 

S.N. Areas Total 
working 

hour 

Knowledge 
(16%) 

Understanding 
(24%) 

Application 
(40%) 

Higher ability 
(20%) 

Total 
number 
of items 

Total 
number 

of 
questions 

Total 
Marks 

Number 
of items 

Marks Number 
of items 

Marks Number 
of items 

Marks Number 
of items 

Marks 

1. Geometry 25 1 1 2 2 2 3 1 2 6 2 8 

2. Arithmetic  60 3 3 3 4 4 7 2 4 12 4 18 

3. Mensuration 35 1 1 2 2 3 5 1 2 7 2 10 

4. Statistics 15 1 1 1 2 2 2 1 1 5 2 6 

5. Algebra 25 2 2 2 2 2 3 1 1 7 2 8  

  160 8 8 11 12 13 20 6 10 38 12 50 
 

b|i6Jo M  

§ k|Zgkq lgdf{0f ubf{ k|To]s If]qdf / ;du|df 1fg, af]w, k|of]u / pRr bIftfsf nflu tf]lsPcg';f/sf ef/ ldn]sf] x'g'kb{5 . t/ ;+1fgfTds txdf 
@ cª\s;Dd 36a9 x'g ;Sg]5 .  

§ ;Gbe{ lbP/ k|Zgx? lgdf{0f ug'{kg]{5 . k|To]s k|Zgdf PseGbf a9L ;+1fgfTds txsf pkk|Zgx? ;dfj]z ug{ ;lsg]5 .  

§ Application / higher ability txsf k|Zgx? lgdf{0f ubf{ ;DalGwt If]qsf cnfjf cGo If]qsf ljifoj:t';Fu ;DalGwt k|Zgx? klg /xg ;Sg]5g\ 
.  

§ x/]s If]qcGtu{t /x]sf ;a} pkIf]qsf ljifoj:t'x? ;dfg'kflts ?kdf ;dfj]z x'g]u/L k|Zgx? lgdf{0f ug'{kg]{ 5 . 



gd'gf k|Zgkq, @)&( 

sIff $ 

;do M 2  306f         k"0ff{ª\s M 50  

1. Pp6f /]vfv08 AB lbOPsf] 5 .  

(s) k|f]6\ofS6/sf] ;xfotfn] A / B df 60°/60° sf] sf]0f lvRg'xf];\ .    2A 

(v) A / B df sf]0f agfPsf /]vfx? sfl6Psf] laGb'nfO{ C gfdfsf/0f ubf{ aGg] lqe'h ABC sf 

tLgcf]6f sf]0fx? / e"hfx?sf] ;DaGw s:tf] aGof] < n]Vg'xf];\ .    2H  

2. tn Pp6f if8d'vfsf] cfs[lt lbOPsf] 5 .      
 

 
 
 
 
 
 

(s) if8d'vfsf] zLif{laGb' sltcf]6f x'G5g\ <       1K 

(v) A nfO{ zLif{laGb' elgG5 eg] ED nfO{ s] elgG5 <     1U 

(u) pSt if8d'vfsf] dflyNnf] ;txsf] gfd n]Vg'xf];\ .     1U 

(3) pSt if8d'vfsf] lsgf/fsf] nDafO slt x'G5 < gfk]/ n]Vg'xf];\ .    1A 

 

3. >Ls[i0f Pp6f sf/ lsGg sf/sf] zf]?ddf uP5g\ . pgn] lsGg rfx]sf] sf/sf] d"No ?= 

2025400 tf]lsPsf] /x]5 .  

(s) 2025400 df 5 sf] :yfg / :yfgdfg slt x'G5 n]Vg'xf];\ .    2U 

(v) pSt sf/sf] d"NonfO{ /fli6«o k4ltcg';f/ cNklj/fd k|of]u u/L cª\sdf n]Vg'xf];\ . o;nfO{ 
cIf/df klg n]Vg'xf];\ .         2A 

A B 

E D 

C 

F 
G 

B A 



4. ;'lznn] ufFpdf afv|fkfng ug]{ ;f]r agfP5g\ . pgL;Fu ? 35,750 5 . pgsf] 5qb]j 

ufpFkflnsfn] s[lif cg'bfg sfo{j|md cGtu{t ? 50,000 ;Dd cg'bfg lbg] gLlt agfPsf] 5 .  

(s) ufpFkflnsfn] lbg] /sd ;lxt ;'lzn;Fu hDdf slt /sd x'G5, kQf nufpg'xf];\ . 1A 

(v) afv|fsf 6 cf]6f kf7fx? lsGg ? 25854 / afv|fsf] vf]/ agfpg ? 42756 vr{ eP5 eg] 
;'lzn;Fu ca slt /sd afFsL /xG5 <       2A 

(u) olb ;'lznn] afv|fsf 3 cf]6f kf7fx? yKg rfx] eg] pgLnfO{ slt /sd k'Ub}g < 2HA 

5. bfofFsf] lrqdf k]Dafsf] k|yd q}dfl;s k/LIffsf] k|fKtfª\snfO{ 5fFof kf/]/ b]vfOPsf] 5 . 
(s) k]Dafn] kfPsf] k|fKtfª\snfO{ leGgdf n]Vg'xf];\ .  1K 

(v) k]Dafn] kfPsf] k|fKtfª\snfO{ bzdnadf n]Vg'xf];\ . 1U 
(u) k]Dafn] k/LIffdf slt k|ltzt cª\s k|fKt u/]sL /lx5g\ < 
1U 
(3) k]Dafsf] ;fyL /xdfgn] pSt k/LIffdf kfPsf] k|fKtfª\s 

leGgdf 
!
"#

 /x]5 eg] s;n] a9L kfPsf] /x]5 < sf/0f ;lxt 

n]Vg'xf];\ .       2H 
6. (s) 5446 nfO{ glhssf] bzdf z'GofGt ubf{ slt x'G5, n]Vg'xf];\ .     1K 
 
 lrqdf b]vfOPsf] sf6'{g leq hDdf 45 cf]6f 
 ;fa'g c6fpF5g .  

 
     (v) p:t} 345 cf]6f sf6'{gleq c6\g] hDdf 
 ;fa'gsf] ;ª\Vof kQf nufpg s'g ul0ftLo lj|mof 
 ug'{ kb{5 < 1K 
     (u) p:t} 345 cf]6f sf6'{gleq hDdf slt cf]6f     
 ;fa'g c6fpF5g, kQf nufpg'xf];\ .   2A 
 

7.  tnsf k|Zgx?sf] pQ/ n]Vg'xf];\ . 
(s) 1 jif{df slt dlxgf x'G5 <        1K 
(v) 5 ld6/nfO{ ;]lG6ld6/df ?kfGt/ ug'{xf];\ .       1U 
(u) 5000 ldlnln6/nfO{ ln6/df ?kfGt/ ug'{xf];\ .      1U 



 lbOPsf] lrqdf k|To]s ;fgf sf]7fx? 1 ju{ ;]=ld= sf 

5g\ .  

    (3) nDafO / rf}8fOlt/sf sf]7fx¿ ugL k'/} lrqsf] 

If]qkmn / kl/ldlt slt slt x'G5, kQf nufpg'xf];\ . 

       2A 

8. lbOPsf] tflnsf cWoog ug'{xf]; / tn ;f]lwPsf k|Zgx?sf] pQ/ lbg'xf];\ . 
 
j|m=;+ ;dfgsf] gfd d"No s/;lxtsf] d"No 

1 38L 5650 ? 6,384 / 50 k};f 

2 df]jfOn 15470 ? 17,481 / 10 k};f 

3 x]8kmf]g 2500 ? 2825 

 
(s) 2 cf]6f 38L lsGbf s/;lxt slt /sd ltg'{k5{ <      1A 

(v) 3 cf]6f df]jfOn / Pp6f x]8kmf]g lsGg s/;lxt hDdf slt /sd cfjZos k5{ < 2A 

(u) olb tkfO{Fn] 38L, df]jfOn / x]8kmf]g Ps Pscf]6f lsGg' eof] eg] hDdf slt ?lkofF 

s/afkt ltg'{ kg]{ x'G5, kQf nufpg'xf];\ .       2H  

9. ;/:jtL dfWolds ljBfnosf %) hgf ljBfyL{ ;lxtsf] jgef]h sfo{j|mdsf] cfDbfgL / vr{sf] 
ljj/0f tn tflnsfdf lbOPsf] 5 .  

cfDbfgL  vr{  

zLif{s  /sd -?_  zLif{s  /sd -?_  

ljBfyL{x¿af6 ;ªslnt /sd  

ljBfnoaf6 ;xof]u  

40,000 

25,000 

Vffgfdf  

oftfoft  

Do'lhs l;:6d  

k]o kbfy{ 

ljljw  

40,000 

9,500 

3000 

5000 

1500 

hDdf  65,000  59,000 



(s) oftfoftdf slt ?lkofF 5'6\6fOPsf] 5 <       1K 
(v) jgef]haf6 slt /sd art ePsf] /x]5, kQf nufpg'xf];\ .    1A 
(u) jgef]haf6 art ePsf] /sd ljBfyL{x?nfO{ bfdf;fxLn] lkmtf{ lbg] eP5g\ . ca Pshgf 

ljBfyL{sf] slt /sd jgef]h sfo{j|mddf vr{ eP5, kQf nufpg'xf];\ .   1HA 
 
10.  >Lkb\d dfWolds ljBfnosf] z}lIfs aif{ @)&* sf] sIff ^ b]vL !@ ;Ddsf ljBfyL{x?sf] 
egf{ ljj/0fsf cfwf/df tof/ ul/Psf] :tDe lrq tn lbOPsf] 5 . pQm :tDe lrqsf] cjnf]sg 
u/L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ . 

 

 
 

(s) ;a}eGbf sd ljBfyL{ ;ª\Vof ePsf] / ;a}eGbf w]/} ljBfyL{ ;ª\Vof ePsf] sIff s'g  
s'g x'g\ <           
 2U 

(v) pSt ljBfnodf hDdf slt hgf ljBfyL{x? /x]5g\ <    1A 

11.  vfnL sf]7fdf pko"St zAb, ;ª\Vof jf lrx|g eg'{xf];\ .        

(s) x n] a}zfv dlxgfsf zlgaf/ kg]{ lbgx? hgfpF5 eg] x nfO{        elgG5 . 1K 

(v)  5 + 7 = □          1K 
(u)   □+ 2 = 7          1U 
(3)  15 -  □   = 6         1U 

(ª)   27  □  3 = 9          1A 

  



12. 15 cf]6f ;'Gtnf s]xL dflg;x?nfO{ a/fa/ x'g] u/L afF8\bf k|To]sn] 3 cf]6fsf b/n] kfP5g\ 
eg] 

(s) sf]7f ;ª\s]tsf] k|of]u u/L ul0ftLo jfSodf n]vL slt hgf dflg;x?nfO{ afFl8Psf] /x]5, 
kQf nufpg'xf];\ .           2A 
(v) k|To]s dflg;n] 5/5 cf]6fsf b/n] kfpg sltcf]6f ;'Gtnf yk ug'{ kb{5 <  1HA 



 

1 
 

cfwf/e"t tx -sIff $–%_ sf] kl/dflh{t kf7\oj|md, 
@)&* df cfwfl/t ljlzi6Ls/0f tflnsf 

  

 
 
 
 

  

lj1fg tyf k|ljlw 
 
 
 

-k[i7kf]if0f k|lt_ 
 

 
 
 
 

g]kfn ;/sf/  
lzIff, lj1fg tyf k|ljlw dGqfno 

kf7\oj|md ljsf; s]Gb|  
;fgf]l7dL, eStk'/



ljlzi6Ls/0f tflnsf @)&* 

sIff M $                      ljifo M lj1fg tyf k|ljlw 

k"0ff{ª\s M %)                                                     ;do M @ 306f 

 

b|i6Jo  

 k|Zg lgdf{0f ubf{ 1fg, af]w, k|of]u / pRRf bIftfsf k|Zgx¿ dfly plNNflvt sfo{306f / cª\sef/cg';f/ 

agfpg'kg]{ 5 .  

 ax'j}slNks k|Zg / clt 5f]6f] k|Zg ! cª\s, 5f]6f] k|Zg @ cª\s / nfdf] k|Zg $ cª\ssf b/n] ;f]Wg'kg]{ 

5 . 

 ;d"xsf] hDdf cª\sef/df 36a9 ug{ kfOg] 5}g t/ ;d"xleqsf PsfOx¿df ±@ x''g ;Sg] u/L k|Zg 

agfpg ;lsg] 5 . t/ s'g} PsfOnfO{ z"Go ug{ kfOg] 5}g .  

 @ jf $ cª\ssf k|Zgsf nflu Pp6f ;xL tŒjdf ! cª\s -1 mark will be assigned per element 

expected as correct response) cfpg] u/L k|Zg lgdf{0f ug'{kg]{ 5 . 

 5f]6f] / nfdf] k|Zg Pp6} txsf] jf b'O{ jf PseGbf a9L ;+1fgfTds If]qcGtu{tsf txx¿ ;d]6\g] u/L 

agfpg klg ;lsg] 5 . t/ ;du|df plNnlvt txsf] hDdf ef/;Fu ldNg'kg]{ 5 . 

 

 

 

 

j|m=;= PsfO sfo{  

306f ;+1fgfTds tx 

;d"xut 

cª\sef/ 

PsfOut  

cª\sef/ 

1fg -#)%_ af]w -#)%_ k|of]u -#)%_ 

pRr bIftf  

-!)%_   

!= j}1flgs l;sfO !) ax'j}slNks k|Zg 

-#×!_ 
w]/} 5f]6f]]=k|Zg  

-@×!_ 
5f]6f]]=k|Zg  

-#×@_ 
nfdf]] k|Zg 

-!×$_ 

ax'j}slNks 

k|Zg -#×!_ 
w]/} 5f]6f]]=k|Zg  

-@×!_ 
5f]6f]]=k|Zg  

-#×@_ 
nfdf]] k|Zg 

-!×$_ 

ax'j}slNks 

k|Zg -#×!_ 
w]/} 5f]6f]]=k|Zg  

-@×!_ 
5f]6f]]=k|Zg 

-#×@_ 
nfdf]] k|Zg 

-!×$_ 

ax'j}slNks 

k|Zg -!×!_ 
 

 

 

 

nfdf]] k|Zg 

-!×$_ 

!@ 
# 

@= ;"rgf tyf ;~rf/ k|ljlw #) ( 

#= hLj / jftfj/0f !) 

!^ 

# 

$= hLjx¿sf] juL{s/0f @% * 

%= hLjg k|lj|mof !% % 

^= kbfy{ #) 

@@ 

!) 

&= b}lgs hLjgdf zlSt @) ^ 

*= k[YjL / cGtl/If @) ^ 

hDdf !^) !% !% !% % %)  %) 

;du| k|Zg of]hgf 

 
k|Zgsf] k|sf/ 

 

k|lt k|Zg 

cª\sef/ 

k|Zg ;FVof 

 

hDdf 

k|Zg 

hDdf 

cª\sef/ 

!= ax'j}slNks k|Zg ! cª\s # # # ! !) !) 

@= w]/} 5f]6f]] k|Zg ! cª\s @ @ @  ^ ^ 

#= 5f]6f]] k|Zg @ cª\s # # #  ( !* 

$= nfdf]] k|Zg $ cª\s ! ! ! ! $ !^ 

HfDdf  ( ( ( @ @( %) 



ljlzi6Ls/0f tflnsfcg';f/ k|Zgkq lgdf{0f ubf{ k|of]u ug{ ;lsg] gd'gf r]sln:6 -Checklist-1_ 

sIff $ 

j|m=;= PsfO 

sfo{ 

306f 

 k|Zgsf tx 

cª\s 

ef/ 
1fg  af]w k|of]u pRr bIftf hDdf  

  -#) %) -#) %) -#) %) -!) %) cª\sef/ 

!= j}1flgs l;sfO !) MCQ SQ   

!@ 

# 

@= ;"rgf tyf ;~rf/ k|ljlw #) VSQ MCQ 
SQ 

VSQ 
LQ ( 

#= hLj / jftfj/0f !) MCQ  SQ  

!^ 

# 

$= hLjx¿sf] juL{s/0f @% 
MCQ 

VSQ 

SQ 

VSQ 

SQ 

MCQ 
 * 

%= hLjg k|lj|mof !% SQ SQ MCQ  % 

^= kbfy{ #) 
 

SQ 

LQ 

MCQ 
VSQ 

MCQ 

MCQ  

 

@@ 

!) 

&= b}lgs hLjgdf zlSt @) SQ  LQ  ^ 

*= k[YjL / cGtl/If @) LQ 
MCQ  

VSQ 
  ^ 

hDdf !^) !% !% !% % %)   

MCQ = Multiple Choice Question, VSQ =Very Short Question, SQ = Short Question and LQ = Long Question 

ljlzi6Ls/0f tflnsfcg';f/ k|Zgkq lgdf{0f ubf{ k|of]u ug{ ;lsg] gd'gf r]sln:6 -Checklist-2_ 

j|m=;= PsfO 

sfo{ 

306f 

 k|Zgsf tx 

cª\s 

ef/ 
1fg  af]w k|of]u pRr bIftf hDdf  

  -#) %) -#) %) -#) %) -!) %) cª\sef/ 

!= j}1flgs l;sfO !) MCQ SQ VSQ  

!@ 

$ 

@= ;"rgf tyf ;~rf/ k|ljlw #) VSQ MCQ 
SQ 

 
LQ * 

#= hLj / jftfj/0f !) MCQ VSQ SQ  

!^ 

$ 

$= hLjx¿sf] juL{s/0f @% 
MCQ 

VSQ 

SQ 

 
SQ 

MCQ 
 & 

%= hLjg k|lj|mof !% SQ SQ MCQ  % 

^= kbfy{ #) SQ 
LQ 

 
VSQ 

 

MCQ  

 

@@ 

* 

&= b}lgs hLjgdf zlSt @) SQ MCQ LQ  & 

*= k[YjL / cGtl/If @) LQ 
MCQ  

VSQ 
MCQ  & 

hDdf !^) !% !% !% % %)   

MCQ = Multiple Choice Question, VSQ =Very Short Question, SQ = Short Question and LQ = Long Question 

 

 

 

 



gd'gf k|Zg (Model question) 

sIff  4                     ljifo M lj1fg tyf k|ljlw (Science and Technology) 

k"0ff{ª\s M 50                                 ;do M 2 306f 

lbOPsf ;a} k|Zgsf] pQ/ lbg'xf];\ M . (Attempt all the given questions) 

klxnf] v08  (First Section) 

;d"x s  (Group A) 

ax'j}slNks k|Zgx¿ (Multiple Choice Question - MCQs) 

l7s pQ/df l7s lrx\g √ nufpg'xf];\ . (Tick (√) the correct answer)                  (10 × 1 = 10) 

1. :s]d]l6s lrq sf]bf{ s:tf] k]lG;n k|of]u ug'{k5{ <   

What type of pencil should be used during schematic sketching? 

 -s_ /ª\uLg (coloured)          -v_ ltvf]  (sharp)          -u_ af]wf] (blunt) 

2. sDKo'6/df cfp6k'6 l8efO; s'g xf] < Which is output device in computer?       

-s_ dfp; -mouse)                      -v_ lsaf]8{ (keyboard)               -u_ dlg6/ - monitor) 

3.  la?jfn] Zjf;k|Zjf; ubf{ xfjfaf6 s'g UofF; lnG5g\ <  

Which gas is taken by plants for respiration? 

-s_ clS;hg (oxygen)          -v_ gfO6«f]hg (nitrogen)  -u_ sfa{g 8fOcS;fO8 (carbon dioxide) 

4.  lbOPsf hLjx¿dWo] l;w} aRrf hGdfpg] hLj s'g xf] <   

Which of the following animals gives direct birth to baby? 

-s_ ;d'b|L 3f]8f (sea horse)           -v_ rd]/f] (bat)              -u_ xfF; (duck) 

5. r/f], rd]/f] / k'tnLdf ;dfgtf s] 5 < What do birds, bats and butterflies have in common?      

-s_ KjfFv (feathers)                -v_ /f}+ (hair)                   -u_ kv]6f (wings)                                                  

6. s]xL la?jfx¿ h:t} ;'Gtnfn] kmn pTkfbg u5{ . kmnsf] Pp6f sfo{ s'g xf] <   

    Some plants produce fruit such as orange. What is one function of a fruit? 

-s_ lapnfO{ hf]ufpg] (to protect seeds) 

-v_ lapsf nflu vfgf pTkfbg ug]{ (to produce food for seeds) 

-u_ cª\s'/0fsf nflu kfgL hDdf u/]/ /fVg] (to store water for germination) 

7. s'g k|lj|mofsf] sf/0f leh]sf] tf}lnof ;'Vvf x'G5 <    

Which process causes a wet towel to become dry? 

-s_ b|jLs/0f (condensation)         -v_ jfikLs/0f (evaporation)      -u_ pWj{kftg (sublimation) 

 



 

 

8. lbOPsf] lrqdf 3fdsf] dfqf a9\of] eg] pSt k|lj|mofdf s:tf] km/s knf{ < What would happen in the 

given process when the intensity of sunlight is increased in 

the given figure?                                                                                                                                                                                                            

-s_ jiff{ sd x'G5 . (less rainfall occurs.) 

-v_ jiff{ a9L x'g\5 . (more rainfall occurs.)  

-u_ jiff{df s]xL km/s kb}{g . (there is no effect on 

rainfall.) 

 

9. lrqdf xfjf el/Psf] a]n'g / 6fo/ b]vfOPsf] 5 < o;n] xfjfsf] s'g 

u'0fnfO{ b]vfpF5g\ < Ballon and tyre filled with air are shown 

in the figure. Which property of air is shown? 

-s_ xfjfsf] /ª x'G5 . (air has colour.) 

-v_ xfjfsf] tf}n x'G5 . (air has weight.)  

-u_ xfjfsf] lglZrt cfsf/ x'G5 . (air has fixed shape.) 

 

10. k[YjLsf] Oltxf; cWoog ug{ r6\6fg lsg dxŒjk"0f{ 5  <  

     Why rock is important to study history of the earth?           

-s_ r6\6fg s8f ePsfn] (being rock hard) 

-v_ r6\6fg ax'd'No ePsfn] (being rock expensive) 

-u_ r6\6fgdf hgfj/ / la?jfsf] 5fk kfOgfn]  (getting imprints of animal and plants in rock)   

 

 

 

 

 

 

 

 

 

 

 

 

 



 

;d"x -v_ (Group B) 

 

lbOPsf k|Zgsf] clt 5f]6f] pQ/ n]Vg'xf];\ .  

(Write the very short answer of the given questions.)                         (6 × 1 = 6) 

1. sDKo'6/df lrq sf]g{ / /ª eg{sf nflu k|of]u ul/g] ;km\6j]o/sf] gfd s] xf] < . What is the name 

of software used to draw and colour picture in computer?     

2. lrqdf sDKo'6/;Fu ;DalGwt s]xL pks/0fx¿ lbOPsf 5g\ .  tLdWo] s'g s'g pks/0f Hf]f8]/ cfkm"n] 

rfx]sf] cIf/ 6fOk ug{ ;lsG5 <     

Some devices of computer are given in the diagram. Which of those instruments can be 

connected to the device to type the letter you want? 

 
   

 

3. d]?b08 ePsf] Pp6f hgfj/sf] Pp6f pbfx/0f n]Vg'xf];\ . Write an example of animals having 

back bone.)                 

4. sdnsf] la?jfsf] 7'nf] / km/flsnf] kftn] o;nfO{ s:f/L ;xof]u u5{ <  How does the big and 

wide leaves of a lotus plant support it?                         
5. r6\6fgsf] s8fkg kQf nufpg]] Pp6f tl/sf n]Vg'xf];\ . Write one way to find the hardness of a 

rock.     

6. lxdfn / kxf8df Pp6f km/s n]Vg'xf];\ . Write a difference between mountain and hill.     
 

 

 

 

 

 

 

 



;d"x -u_ (Group C) 

lbOPsf k|Zgsf] 5f]6f] pQ/ n]Vg'xf];\ . (Write short answer of given questions.)              (9 × 2 = 18) 

7. j}1flgs l;sfO k|lj|mofdf cjnf]sgsf] dxŒj s'g} b'O{cf]6f aF'bfdf n]Vg'xf];\ .      

Write in any two points about the importance of observation in scientific learning 

process.                                        

8. Nofk6ksf] l8:Kn] ;kmf ubf{ s'g s'g s'/fdf Wofg lbg'k5{ < b'O{cf]6f aF'bfdf n]Vg'xf];\ . What should 

be considered about the attention to while cleaning the laptop display? Write two points.                         

9. Pp6f ljBfno j/k/ sfuh / Knfl:6ssf 6'j|mfx¿ oqtq 5l/P/ /x]sf] kfOof] . o:tf] k|sf/sf] kmf]x/  

Joj:yfkgsf nflu s'g} b'O{cf]6f pkfo pNn]v ug'{xf];\ . Paper and plastics pieces were found 

dispersed around the school. Mention any two methods for managing this type of waste.                    

10. lbOPsf] rf6{df la?jfx¿sf 5cf]6f ;d"x b]vfOPsf] 5 . n;'g, lrofsf] af]6, sdn / cf]v/nfO{ A, B, 

C, D, E / E  df juL{s/0f ug{'xf];\ . This chart shows six group of plants. Classify garlic, tea 

plant, lotus and walnut in A, B, C, D, E and F.                 

la?jfsf k|sf/ 

(Types of plants) 

hldgdf kfOg] la?jf 

(Terrestrial plants) 

kfgLdf kfOg] la?jf 

(Aquatic plants) 

emf/kft A B 

a'6\ofg     C D 

?v  E F 

11. lbOPsf la?jfx¿nfO{  emf/kft / a'6\ofgdf juL{s/0f ug{'xf];\ . Classify the given plants into a 

herbs and shrub.   

     u'nfkm (Rose), uf]ne]F8f (tomato), uxF' (Wheat), sfutL (lemon)  
12. tn lbOPsf la?jfx¿af6 gofF la?jf pTkfbg ug]{ tl/sf n]Vg'xf];\ . -Write the method of 

producing new plants from following.)      

-s_ u'nfkm  (Rose)    -v_ wfg (Paddy 

13. k/]jfsf] hLjgrj|msf s'g} b'O{cf]6f cj:yfsf] gfd n]Vg'xf];\ . (Write the name of any two stages 

of life cycle of pigeon).       

14. xfjfsf s'g} b'O{cf]6f ef}lts u'0fx¿ n]Vg'xf];\ . -Write any two physical properties of air.)    

15. zlStsf s'g} b'O{cf]6f k|fs[lts ;|f]tx¿sf] gfd n]Vg'xf];\ . -Write the name of any two natural 

resources of energy.)    

 



;d"x -3_ (Group D) 

lbOPsf k|Zgx¿sf] nfdf] pQ/ n]Vg'xf];\ . (Write long answer of the given question)    (4 × 4 = 16)   

16. k'tnLsf] hLjgrj|msf] lrq agfO{ rf/cf]6f r/0fx¿sf] gfds/0f ug{'xf];\ . .  Draw a picture of the 

life cycle of a butterfly and label its four stages.                        

17. kfgL 36\6sf] sfo{ljlw 5f]6s/Ldf j0f{g ug'{xf];\ . Briefly describe the working method of water 

turbine (Pani ghatta).                                 

18. tkfO;Fu b'O{cf]6f km/s km/s r'DasLo Ifdtf ePsf b'O{cf]6f 58 r'Das 5g\ . ltgLx¿df w]/}  

r'DasLo Ifdtf ePsf] r'Das 5'6\ofpg] tl/sf n]Vg'xf];\ . You have two bar magnets with two 

different magnetic potentials. Write a method to separate the magnet that has more 

magnetic potential.)                 

19. af9L hfg'sf s'g} rf/cf]6f sf/0f n]Vg'xf];\ . Write any four causes of flooding.        

 

 

 

 



 

 
 

cfwf/e"t tx -sIff $–%_ sf] kl/dflh{t kf7\oj|md, 
@)&* df cfwfl/t ljlzi6Ls/0f tflnsf 

  

 
-gd'gf k|Zgkq;d]t_ 

 
 

  

:jf:Yo, zf/Ll/s tyf l;h{gfTds snf 
 
 
 

-k[i7kf]if0f k|lt_ 
 

 
 
 
 

g]kfn ;/sf/  
lzIff, lj1fg tyf k|ljlw dGqfno 

kf7\oj|md ljsf; s]Gb|  
;fgf]l7dL, eStk'/



 

1 
 

ljlzi6Ls/0f tflnsf 
;}4flGts d"Nofª\sg 

  ljifo M  M :jf:Yo, zf/Ll/s tyf l;h{gfTds snf 
sIffM $ / %                                               k"0ff{+s M %)                     ;do M @ 306f 

 k|Zg of]hgf tyf cª\sef/ ljt/0f 

PsfO If]q÷PsfO kf7\o

306f  

cª\s 

ef/ 

1fg af]w k|of]u pRr bIftf hDdf k|Zg ;ª\Vof hDdf cª\sef/ hDdf 

cª\s 

    clt 

5f]6f 

5f]6f nfd

f] 

clt 

5f]6f 

5f]6f nfdf] clt 

5f]6f 

5f]6f nfdf] clt 

5f]6f 

5f]6f nfdf] clt 

5f]6f 

5f]6f nfdf] clt 

5f]6f 

5f]6f] nfdf]  

!= JolStut :jR5tf % $ $ !  @ ! !  ! !  ! ! ^ $ # ^ * !@ @^ 

@= jftfj/0fLo ;/;kmfO ^ % 

#= vfgf / kf]if0f ^ % 

$= /f]ux¿, w"dkfg / dBkfg !) * 

%= ;'/Iff / k|fylds pkrf/ % $ 

^ sjfh / zf/Ll/s s;/t 
$ 

! 

@    ! !  !   !  @ # ! @ ^ $ !@ 
& Py\n]l6s; / lhDgfl:6S;  !) $ 

*= ;fwf/0f, :yfgLo / an 

v]nx¿ 
!@ 

% 

( of]u  ^ @ 
!) /]vflrq / /ª ^ @ 

@    !   ! !  !  @ # ! @ ^ $ !@ 

!! 5kfO, df6fsf] sfd / 

lgdf{0f sfo{ 
!) 

$ 

!@ ufog / jfbg !) $ 
!# g[To / clego ^ @ 
hDdf (^ %) * !  @ # @  # @  # ! !) !) % !) @) @) %) 

 

 k|Zg lgdf{0f ubf{ lgDglnlvt txsf k|Zg -1fg, af]w / k|of]u_ tyf pRr txsf k|Zg -ljZn]if0f, d"Nofª\sg / l;h{gf_ ;a} txsf k|Zg / ;a} PsfOsf] 

kf7o306fnfO{ Wofgdf /fv]/ k|Zg agfpg'kg]{ 5 . clt 5f]6f k|Zg ! cª\s, 5f]6f k|Zg @ cª\s / nfdf k|Zg $ cª\ssf b/n] ;f]Wg'kg]{ 5 . 

 :jf:Yosf\ v08df cª\sef/df @^  36a9 gx'g] u/L o; v08leqsf PsfOx?df ±– @ x'g ;Sg] u/L k|Zg agfpg ;lsg] 5 . 

 Zff/Ll/s v08df hDdf cª\sef/ !@ 36a9 gx'g] u/L o; v08leqsf PsfOdf ±– @ x'g ;Sg] u/L k|Zg agfpg ;lsg] 5 . 

 l;hgfTds snfsf] v08df hDdf csef/ !@ 36a9 gx'g] u/L o; v08leqsf PsfOdf ±– @ x'g ;Sg] u/L k|Zg agfpg ;lsg] 5 . 
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gd'gf k|Zgkq 

ljifo M :jf:Yo, zf/L/Ls tyf l;h{gfTds snf 

sIffM $           k"0ff{ª\sM !))     ;doM @ 306f 

;d"x s Group 'A' 

tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ M                             !)×!=!) 

(Give very short answers to the following questions.)  

!= JolStut :jR5tf eg]sf] s] xf] < [What do you mean by personal hygiene?] 

@= jftfj/0f lsg ;kmf /fVg'kb{5 < s'g} Ps sf/0f n]Vg'xf];\\ . [Why should we keep our 
surroundings clean? Write any one reason.] 

#= ;Gt'lnt cfxf/ eg]sf] s] xf] < Ps jfSodf n]Vg'xf];\\ . [What is balanced diet? Write in one 
sentence.] 

$= b'lift vfgf / kfgLaf6 ;g]{ s'g} b'O{cf]6f /f]usf] gfd n]Vg'xf];\ . [Write the name of any two 
diseases caused by contaminated food and water. ] 

%= ljBfnodf b'3{6gf x'g glbgsf nflu tkfOF{n] ckgfpg] s'g} Ps ;'/Iffsf] pkfo n]Vg'xf];\ . 

[Write any one safety measures you adopt in your school to protect from accident.]  

^= vfgfsf d'Vo bO{ ;|f]t s] s] x'g\n]Vg'xf];\ [What are  the two major sources of food? Write 
down.]  

&= sjfh eg]sf] s] xf] < Ps jfSodf n]Vg'xf];\ . [What do you mean by "Drill"? Write in one 
sentence.]  

*= s:tf v]nnfO{ :yfgLo v]n elgG5 <[What types of games are called local game ?] -1fg tx _ 

(= s:tf] k|sf/sf] /ªnfO{ l4tLo /ª elgG5 < [ What kinds of colours are called secondary 
colours ?]  



 

4 
 

!)= clego eg]sf] s] xf] < Ps jfSodf n]Vg'xf];\ . [What is meant by acting? Write in one 
sentence.]  

;d"x v Group 'B' 

tnsf k|Zgsf] ;ª\lIfKtdf pQ/ lbg'xf];\ M                             !)×@=@) 

(Answer the following questions in brief.)  
!!= dlxgfjf/L x'Fbf Wofg lbg'kg]{ s'g} b'O{cf]6f s'/f n]Vg'xf];\ .[ Write any two attentions to be paid 
during menstruation.]  

!@= 3/ j/k/sf] jftfj/0f ;kmf /fVg' kgf{sf s'g} b'O{cf]6f sf/0f n]Vg'xf];\ . [Write any two causes 
of keeping our surroundings clean.]  

!#= kl/jf/sf ;b:onfO{ w'd|kfgaf6 6f9f /xg tkfO{Fn] s] ;'emfj lbg'x'G5< s'g} b'O{cf]6f ;'emfj n]Vg'xf];\ 
.[What suggestions do you provide to your family members to keep them away from 
smoking? Write any two suggestions.]  

!$= b'3{6gf sd ug{ ljBfnon] ug'{kg]{ s'g} b'O{cf]6f sfd n]Vg'xf];\ . [Write any two works that 
should be done by a school to decrease the accidents.]  

!%= xfdLn] zf/Ll/s Jofofd lsg ug'{kb{5 < s'g} b'O{cf]6f sf/0f n]Vg'xf];\ .[Why  should we do 
physical exercise? Write any two reasons.]  

!^= tkfO{FnfO{ dg kg]{ s'g} Ps :yfgLo v]n v]Ng] tl/sf 5f]6s/Ldf n]Vg'xf];\ .[Write the methods of 
playing any one of your favorite local game.] 

!&= z/L/ tGb'?:t ePdf dlit:s klg :j:Yo /xG5, k'li6 ug'{xf]; . [If our body remains healthy, 
our brain remains healthy too. Justify it.] 

!*= :yfgLo nf]s g[To ubf{ s] s] s'/fdf Wofg lbg'kb{5 < s'g} b'O{ s'/f n]Vg'xf];\ .[What points 
should be considered in doing folk dance? Write any two of them.]  

!(= tkfO{Fn] agfPsf] s'g} Ps j:t'sf] lrq sf]/L pko'St /ª ebf{ Wofg lbg'kg]{ s'g} b'O{ s'/f n]Vg'xf];\ 
.[Write down any two things to be considered while filling colours in the drawing you 
make.]  



 

5 
 

@)= tkfO{Fsf] dft[efiffdf ;'g]sf] jf ufpg] u/]sf] s'g} Pp6f lutsf] b'O{ kªs\tL n]Vg'xf];\ .[ Write any 
two lines of a song in your mother language that you have heard and sung.]-pRr bIftf _ 

;d"x u Group 'C' 

tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ M                             %×$=@) 

(Give long answers to the following questions.)  

@!= tkfO{Fn] cfkm\gf] ;d'bfodf ;?jf /f]uaf6 aRgsf nflu ;d'bfosf dflg;nfO{ s] s] ;'emfj lbg'x'G5 < 
s'g} rf/cf]6f ;'emfj n]Vg'xf];\ . [What suggestions do you make to the people in your 
community to protect them from communicable diseases? Write any four suggestions.]- 

@@= tkfO{Fsf] ufFp3/df kfOg] vfg]s'/faf6 s;/L ;Gt'lnt cfxf/ vfg ;lsG5 < rf/ a'Fbfdf 
n]Vg'xf];\.[How do you prepare balanced diet from the locally available food items? Write 
in four points.]-  

@#= jftfj/0f :jR5 / ;kmf /fv]df xfdLnfO{ s] kmfObf x'G5 < s'g} rf/cf]6f a'Fbfdf n]Vg'xf];\ . 

[What benefits do we get if we keep our surroundings clean? Write in four points.]  

@$= of]uf;g xfd|f] z/L/sf nflu kmfObfhgs 5 . o;sf s'g} ef/cf]6f kmfObf n]Vg'xf];\ .[What 
benefits do we get from yoga to our body ? Write any four benefits.] 

@%= tkfO{F a:g] 7fpFdf ahfOg] jf cfkm"nfO{ dg kg]{ s'g} b'O{ :yfgLo afhfsf] lrq agfO{ pko'St /ª 
 eg'{xf];\ . [Draw the pictures of any two folk instruments of your community or of your 
choice and colour them appropriately.] 

–)– 

 



 

cfwf/e"t tx -sIff $–%_ sf] kl/dflh{t kf7\oj|md, 
@)&* df cfwfl/t ljlzi6Ls/0f tflnsf 

  

 
 
 
 

  

;fdflhs cWogg tyf dfgj d"No lzIff 
 
 
 

-k[i7kf]if0f k|lt_ 
 

 
 
 
 

g]kfn ;/sf/  
lzIff, lj1fg tyf k|ljlw dGqfno 



kf7\oj|md ljsf; s]Gb|  
;fgf]l7dL, eStk'/ 



 

 

 

 

 

ljlzi6Ls/0f tflnsf 

sIff $—%                                                                                              k"0ff{ª\s M %) 

PsfO 

  

sfo{ 

306f 
clt 5f]6f] 5f]6f] nfdf] 

PsfOcg';f/ 

cª\s 

ljefhg 

1fg / 

af]w 

k|of]u / 

l;h{gfTds 

l;k pRr bIftf 

1fg / 

af]w 

k|of]u / 

l;h{gfTds 

l;k 

pRr 

bIftf 

1fg / 

jf]w 

k|of]u / 

l;h{gfTds 

l;k 

pRr 

bIftf 

!= xfdL / xfd|f] ;dfh @) 

      !-#_   !-#_        

^ 

@= xfd|f] dfgj d"No dfGotf @^ 

  !-!_      !-#_       !-%_ 

( 

#= gful/s r]tgf @$ 

!-!_   !-!_       !-%_    

& 



 ljifoM ;fdflhs cWoog tyf dfgj d"No lzIff                                                            ;doM @ 306f 

 

 

 

 

 

 

 

 

 

k|Zgsf] lsl;d k|Zg ;ª\Vof hDdf cª\s ef/ 

Nffdf] pQ/ cfpg] k|Zg # # X % Ö !% 

5f]6f] pQ/ cfpg] k|Zg ( ( X # Ö @& 

w]/} 5f]6f] pQ/ cfpg] k|Zg * * X ! Ö * 

$= ;fdflhs ;d:of , 

ljs[lt / ;dfwfg 

@) 

   !-#_    !-#_       

^ 

%= xfd|f] ljut !* 

!-!_ !-!_   !-#_         

% 

^= xfd|f cfly{s lj|mofsnfk @^ 

!-!_ !-!_      !-#_   !-#_      

* 

&= xfd|f] k[YjL @^ 

!-!_     !-#_       !-%_  

( 

hDdf !^) 

$ # ! % # ! ! ! ! 

%) 

  

 

*X!Ö* (X #Ö@& # X %Ö!% 

 



hDdf @) %) 

 

k|Zg k|ltzt 

1fg / af]w $* 

k|of]u / l;h{gfTds l;k #$ 

pRr bIftf !* 

hDdf !)) 

 

b|i6JoM pRr bIftfdf ljZn]if0f, ;dfnf]rgfTds lrGtg, d"No / clej[t;Fu ;DjlGwt k|Zgx¿ ;f]lwg] 5 . 

 

 

 

  



sIff $ 

ljifo ;fdflhs cWoog tyf dfgj d"No lzIff 

 v08 -s_                                                         *X!Ö* 

tn lbOPsf k|Zgsf] clt 5f]6f] pQ/ n]Vg'xf];\ M 

!= tkfO{Fn] cfTd cg'zf;g sfod /fVg ug]{ u/]sf s'g} Ps afgL Jojxf/ pNn]v ug'{xf];\ . 

@= afn clwsf/df kg]{ s'g} b'O{ clwsf/ n]Vg'xf];\ . 

#= j8f sfof{noaf6 k|bfg ug]{ ;]jfsf] s'g} Ps dxŒj n]Vg'xf];\ . 

$= cfkm\gf] ;d'bfodf of]ubfg k'¥ofpg] JolStnfO{ lsg ;Ddfg ug'{kb{5 < cfkm\gf] ljrf/ k|:t't 

ug'{xf];\ . 

%= tkfO{Fsf k'vf{n] u/]sf] s'g} Pp6f of]ubfg n]Vg'xf];\ . 

^= :yfgLo If]qdf pTkflbt j:t'sf] pkof]u ubf{ x'g] s'g} Ps kmfObf n]Vg'xf];\ . 

&= tkfO{Fn] ldTfJooL x'g s] s] ug]{ ug'{ePsf] 5 < b'O{ a'Fbfdf n]Vg'xf];\ . 

*= af9L klx/f]n] ug]{] s'g} Ps c;/ n]Vg'xf];\ . 

 



 

 

 

 

 v08 v  

tn lbOPsf k|Zgsf] 5f]6f] pQ/ n]Vg'xf]; M                                         (X#Ö@& 

( l5d]sdf s] s:tf ;xof]u cfbfg k|bfg ug{ ;lsG5, pNn]v ug'{xf];\ .                  # 

!) cfkm\gf] 3/df k|of]u x'g] k];fut ;fdu|Lsf] htg s;/L ub}{ cfpg'ePsf] 5 < ;fdu|Lsf] gfd / htg 

ug]{ tl/sf pNn]v ug'{xf];\ .                                                      ! ±@  

!!= tkfO{Fn] s] s:tf c;n afgL Jojxf/nfO{ cfkm\gf] b}lgs hLjgdf ptfg'{ ePsf] 5 <        # 

!@= c;n ;dfh eg]sf] s] xf] < c;n ;dfhsf s'g} b'O{ ljz]iftf n]Vg'xf];\  .        ! ±@ 

!#= ;dfhdf x'g] ljleGg ;fdflhs ;d:of lg/fs/0fsf s'g} tLgcf]6f pkfosf] rrf{ ug'{xf];\ . # 

!$= tkfO{F a:g] ufpF6f]nsf] dxŒj tLg a'Fbfdf :ki6 kfg'{xf];\ .                               # 

!%= cfkm\gf] ;d'bfodf pTkfbg ePsf j:t'sf] k|of]u ubf{ x'g] s'g} tLgcf]6f kmfObf pNn]v  

ug'{xf];\ .                                                                             # 

!^+ ldtJolotf ;DaGwdf ;fyL;Fu ul/g] 5f]6f] ;+jfbsf] gd'gf tof/ kfg'{xf];\ .               # 

!&= tkfO{F /xg' ePsf] :yfgLo txsf] ef}uf]lns cj:yf / xfjfkfgLsf] 5f]6f] kl/ro lbg'xf];\ . @ ±! 

 



 

 

                      ;d"x …uÚ  

nfdf] pQ/fTds k|Zg                                          #X%Ö!% 

!*= xfd|f /fli6 «o lje"ltsf] of]ubfgaf6 tkfO{Fdf s:tf] k|]/0ff k|fKt ug''{eof], rrf{ ug'{xf];\ . % 

!(= k|x/L rf}sL / :jf:Yo rf}sLaf6 k|fKt x'g] ;]jfsf] ;"rL tof/ kfg'{xf];\ . @=%±@=% 

@)= cfkm\gf] lhNnfsf] gS;f tof/ kf/L lhNnfsf d'Vo gbL / cfkm" /x]sf] :yfgLo tx;d]t  

b]vfpg'xf];\ .  @±!±@ 
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